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Winter Addition and Subtraction

Solve the following word problems.

A sled race had 350 participants. 120 more joined
on the second day. However, 75 participants
dropped out due to the cold. How many
participants are left in the race?

A winter fair has 852 visitors in the morning. In the
afternoon, 375 more visitors arrived. However, 250
visitors left before evening. How many visitors are
at the winter fair now?

A snowman was built using 2 snowballs. The first
snowball weighed 330 pounds, and the second
weighed 580 pounds. After a day, the snowman
lost 200 pounds due to melting. How much does
the snowman weigh now?

A shop had 375 winter hats. They then received a
new shipment of 255 hats. However, 156 hats were
returned due to a defect. How many winter hats
does the shop have now?

A ski resort had 500 visitors on Monday. On
Tuesday, 350 more visitors arrived, but 400 visitors
left. How many visitors are at the ski resort now?

The park has 700 trees. During a winter storm, 152
trees were damaged and had to be cut down. The
park then planted 250 new trees. How many trees
does the park have now?

| LN

s www.splashlearn.com




